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finclude =stdio.h=

int maini
|
int arr[5]; A0 52 int® BHEQ MHE,
int sum =0, i
AiEE I B E = A4 FE PII'” HHE & A afs M st
arr[0] = 10, arr[1] = 20, arr[2] = 30, arr[3] = 40, arr[4]

For{i=0 i<6)i++)
|
sum+= arr[i];
}
printf{"BHE 7 4H H
return 0.
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Sum
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#include =stdio.h=
int main )
{
int arr1[5] = {1, 2, 3, 4, 5} AAZ0 7 82 int® ME0 HMHE, HEC 0|EZ arr10|C},
int arr2[] = {1, 2, 3, 4, 5, 6, 7h AAEDEI 5EHY Z7E AE? AHEH B L0 EEHE MEE 4 UL
int arr3[5] =11, 2% A0l BY int® B0l ME Aol EMEIR WS EF 122 AEs2E IEACH
int arlLen, arZlen, ar3lLen, i:
printf(78HE arri2] 37[0 &d #n", sizeof(arri)l fgizeofHMEDE BHES HIO[E 33| E UFEHEL.
printf{"HE arr22l 37 Ed ¥n", sizeoflarr2il
printfi"BH'E arr32l 37|: &d #n", sizeof(arr3)l;
ariLlen = sizeofi{arr1) / sizeof{int ) JAE arrie] ol H M
ar2len = sizeofiarr2) / sizeof{int ) S arr2e] o] H M
ar3len = sizeofiarrd) / sizeof{int ) AR arr3c| o] H oA

For{i=0;i=arilen; i++)
printfi gd", arri[i]ln
printfl “#n" ).

For{i=0;i<ar2Llen; i++)
printfi"zd ", arr2[iln
printfl “#n" ).

For{i=0;i<ar3len; i++)
printfi"zd ", arr3[iln
printfl "#n"u

return 0.
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ginclude<stdio.h=
int main{ )
!
int numl=100, num=100;
int + pnum;
prum = &numil; SAEOE pnumd] numlE 7] &

C+pnum )+=30;

POum BOUME
{+pnum j}-=30;

printf "numl:
return 0.

Jinuml+=302F SY

SAEOE pnumd| num?2s 7] E
JinumZ-=302F SY
Zd, numZ: Zd ®n", numl, num2 )
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Yinclude <stdio.h=

int main{)

!
int number.
int +pnumber;

number=30,;
Pumber=&number .

printfi"H 4 Number2| & ¥d¥n", number ).
printf{"H 3 Humber2] 43 ftwtintin”, pnumber);  /fiws (167 HEHEC =HH AEEC}

*prumber="70.
printf{ "+ HumnberZ|
return 0;

h |
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o dddn®, number )
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¥include <stdio.h=

int maint |

{
int arr[3] = {15, 25, 35}

int + ptr = &arr[0], Alint + ptr o= Barr 3

Printf
printf
Printf
printf("4d #d ¥n", +ptr, #arr).
return 0

—_—— T, e m, e

"l Ed #n, ptrl0], arrl
“id fd #n, ptr[1], arr[
"l kd #nt, ptrlz], arrl
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¥include <stdio.hn=

int main )
{
int arr1[3] = {1, 2, 3}
double arr2[3] = 11.1, 2.2, 3,31

printfi id £g #in", =arrl, #arr2); S/ E2 EHHI 245 ST
+#3rr1+=100,

+#grrd+=120. 5

printf{"fd Zg #n", arri(0], arr2[0] )
return (0.
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ginclude <stdio.h=

int maing)
{
int arr[3] = {11, 22, 335
int + ptr = arr; flint + ptr = Rarr(0] 2 SUE 2E
printfi"&d £d &d #in", +ptr, +(ptr+1), #(ptr+2))  //HHE

printfl"dd ", #ptrl ptre+; flprintfEgt: 28 Z, ptrevz®
printfl"id ", #ptrl ptr++;

printfi"&d ", #ptr) ptr--. fprintfef+ 28 %, ptr--2¢
printfi"&d ", #ptr) ptr--;

printfi"¥d ", +ptr ) printfi"¥n" )

return 0,
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